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1916FE(KESE)FFRDER—E

7o & B WER | 4%
19164 KIESE OR% R(7=2)
19154 KRIE4AHE 1% | (D & X)
19144 KRIE3FE 25% BH(E D)
19134 KIE25F 3% H(D L)
1912%F | BRSA455%/KIEETTE | 4% | F( T H)
19114 BER445F 5% |Z(\WDL L)
19104 BRR43%F 67% (LN 8R)
19094 BRG425F 7% (W)
19084 BSR4 8i% FR(Z3)
19074 BRR404 9m | R(v2L)
19064 BAA394F 107% F(2F)
19054 BAA384 115% B(~T)
19044 BRA3745 12/ R(7=2)
19034 BRA364F 13 | 91D & X))
19024 BASA354F 145% | BE(ED)
19014 BASA 344 154 | B(SL)
19004 BAA334F 16/ | F(RT &)
18994 BEA32%F 17/ |Z(W\WDL L)
18984 BAA3148 18m% (LN 6B)
18974 BASA304F 19/ | BE(&W)
18964 BRS4294F 20m% | FA(Z %)
18954 BRS4 284 21m% | RA(V02 L)
18944 BASR27 4 227% F(5F)
18934 BAS& 264 231k | B(~ND)
18924 BASGE 254 247%% =(7=2)
18914 BRA 245 25 | ON(D & X))
18904 BAsA234F 26m% | EH(&H)
18894 BRSA224F 27m% | BE(S L)
18884 BRsA214F 28m% | F(RTH)
18874 BB 204 29m% |Z(\WDL L)
18864 BASA 194 30/ | R(L\&R)
18854 BASA 184 31 | BA(EY)
18844 BESR1 74 327% FR(Z3)
18834 BASA 164 33m | RK(v2L)
18824 BRA 155 34k | F(OF)
18814 BA 144 35 | B(~UY)
18804 BASA 134 36 | R(7=D)
18794 BAA124 37/ | (D = X)
18784 BRSAT114E 38k | H(ED)
18774 BASA 104 39m% | B(OL)
18764 BASA94E 407% | F(HdH)
18754 BAA8H A% | Z(WDL L)
18744 BRSA74E 427% | F(L\8R)
18734 BASA 65 43 | B(&Y)
18724 BESA 54 445% | H(ZT B)
18714 BRR4 5 455% | R(02L)
18704 BEA3EF 465% F(2F)
18694 BESA24F 47/ | B(~T)
18684 BRSATTE 48i% | R(=2)

1916FED+=% : K(1=D)
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